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(A)Light and variable. (B)Wind shear. (C)Frontal passage.
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(A) It contains all the moisture of the atmosphere. (B)There is an overall
decrease of temperature with an increase of altitude. (C) The average altitude
of the top of the troposphere is about 6 miles.
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(A)Freezing rain. (B) Clear air turbulence. (C)Embedded thunderstorms.
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(A) Nimbostratus. (B) Standing lenticular. (C)Cirrocumulus.
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( C ) 22 "Embedded thunderstorms"+# sc % 7% ¥R % & R % ?
(A) Severe thunderstorms are embedded in a squall line. (B)Thunderstorms are
predicted to develop in a stable air mass. (C)Thunderstorms are obscured by other
types of clouds.
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(A) In front of the thunderstorm cell (anvil side) and on the southwest side
of the cell. (B)Ahead of the roll cloud or gust front and directly under the
anvil cloud. (C)On all sides and directly under the thunderstorm cell.
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(A ) 2 38 " sharp pressure trough"+#7A& 2 2 b *» P&, # {7 f il 4 £7
(A)Establish a course across the trough. (B)Climb or descend to a smoother level.
(C) Increase speed to get out of the trough as soon as possible.
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(A)Less power is required. (B) Higher pitch attitude is required. (C) Lower
descent rate is required.
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(A)Wet snow. (B)Freezing rain. (C)Ice pellets.
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(A)Descend if ambient temperature is falling. (B) Descend if ambient temperature
is rising. (C) Maintain altitude if ambient temperature is not changing.
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(A) convective turbulence. (B) high altitude turbulence. (C) clear air
turbulence.
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(A) In an upper trough on the polar side of a jetstream. (B)Near a ridge aloft
on the equatorial side of a high pressure flow. (C)Downstream of the equatorial
side of a jetstream.
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(A)Low-Level Prog Chart. (B)Radar Summary and Weather Depiction Charts. (C)
Terminal Aerodrome Forecast.
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(A ) 32 4riP L& T LT ¢ causes slight, rapid, and somewhat rhythmic bumpiness
without appreciable changes in attitude or altitude, less than one-third of the
time
(A)Occasional light chop. (B) Moderate turbulence. (C) Moderate chop.
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(C ) 3 4riv T &THFF ¢ momentarily causes slight, erratic changes in altitude
and/or attitude, one-third to two-thirds of the time
(A)Occasional light chop. (B) Moderate chop. (C) Intermittent light turbulence.
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(B ) 66 A calm wind that is forecast, in the International Terminal Aerodrome Forecast
(TAF), 1is encoded as

(A)VRBOOKT. (B)0000OKT. (C)00003KT.

B4 A2 50:0011199 A0 s 20 5
13



( B ) 67 Which are the only cloud types forecast in the Terminal Aerodrome Forecast?
(A)Altocumulus (B)Cumulonimbus (C)Stratocumulus

B4 48%55:0011200 482 :0 ¥4 R %
( A ) 68 Which airplane performance characteristics should be recognized during takeof f
when encountering a tailwind shear that increases in intensity?
(A) Loss of, or diminished, airspeed performance. (B)Decreased takeoff distance.
(C)Increased climb performance immediately after takeoff.

F4o82%0:0011201 2.0 2% B %

( B ) 69 Thrust is being managed to maintain desired indicated airspeed and the glide
slope 1s being flown. Which characteristics should be observed when a tailwind
shears to a constant headwind?

(A)PITCH ATTITUDE: Increases. VERTICAL SPEED: Increases. INDICATED AIRSPEED:
Decreases, then increases to approach speed. (B) PITCH ATTITUDE: Increases.
VERTICAL SPEED: Decreases. INDICATED AIRSPEED: Increases, then decreases.
(C)PITCH ATTITUDE: Decreases. VERTICAL SPEED: Decreases. INDICATED AIRSPEED:
Decreases, then increases to approach speed.

4o 88%2:0011202 %2 2:0 2% B ;7
(C ) 70 An aircraft that encounters a headwind of 45 knots, within a microburst, may

expect a total shear across the microburst of
(A) 40 knots. (B)80 knots. (C)90 knots.

B4 A8 50:0011203 A0 3% B 5
(B ) 7 What airport condition is reported by the tower when more than one wind condition

at different positions on the airport is reported?
(A)Light and variable. (B)Wind shear. (C)Frontal passage.

B 4-38%50:0011204 4220 2% R .7
( C ) 72 An aircraft that encounters a headwind of 45 knots, within a microburst, may

expect a total shear across the microburst of
(A) 40 knots. (B)80 knots. (C)90 knots.

f4e82%0:0011200 220 2% B %
(Cc ) 73 What is the expected duration of an individual microburst?
(A)Two minutes with maximum winds lasting approximately 1 minute. (B) One
microburst may continue for as long as 2 to 4 hours. (C) Seldom longer than 15
minutes from the time the burst strikes the ground until dissipation.

o 4e%255:0011206 4220 2k R ¥
(B ) ™ What is a characteristic of the troposphere?
(A) It contains all the moisture of the atmosphere. (B)There is an overall
decrease of temperature with an increase of altitude. (C) The average altitude
of the top of the troposphere is about 6 miles.
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R 4e4855:0011207 4220 ¥ % R %
(A ) 75 What is the primary cause of all changes in the Earth’s weather?
(A)Variations of solar energy at the Earth’ s surface. (B)Changes in air pressure
over the Earth’ s surface. (C)Movement of air masses frommoist areas to dry areas.

F4ek855:0011208 422 :0 ¥4 B %
(Cc ) 76 What characterizes a ground-based inversion?
(A)Convection currents at the surface. (B)Cold temperatures. (C)Poor
visibility.
4o k855:0011209 4220 $p 5 B ¥

(A ) 77 What feature is associated with a temperature inversion?
(A) A stable layer of air. (B)An unstable layer of air. (C)Air mass thunderstorms.

4o 88%.:0011210 %8 2:0 2% B : %
(A ) 78 When does minimum temperature normally occur during a 24-hour period?
(AM)After sunrise. (B)About 1 hour before sunrise. (C)At midnight.

4o %85:0011211 4220 ¥ % R ¥
( B ) 7™ Which area or areas of the Northern Hemisphere experience a generally east to
west movement of weather systems?
(M Arctic only. (B)Arctic and subtropical. (C)Subtropical only.

R4o42%.:0011212 %520 2% B ¥
(B ) 80 Freezing rain encountered during climb is normally evidence that
(A)a climb can be made to a higher altitude without encountering more than light
icing. (B) a layer of warmer air exists above. (C) ice pellets at higher altitudes
have changed to rain in the warmer air below.

4o B8%0:0011213 %82:0 3% B %
(C ) 8 What is an important characteristic of wind shear?
(A)It is primarily associated with the lateral vortices generated by
thunderstorms. (B)It usually exists only in the vicinity of thunderstorms, but
may be found near a strong temperature inversion. (C) It may be associated with
either a wind shift or a windspeed gradient at any level in the atmosphere.

R4 48%.:0011214 3520 2% B %
(¢ ) 82 What information from the control tower is indicated by the following
transmission? = SOUTH BOUNDARY WIND ONE SIX ZERO AT TWO FIVE, WEST BOUNDARY WIND
TWO FOUR ZERO AT THREE FIVE.’
(A)A downburst is located at the center of the airport. (B)Wake turbulence exists
on the west side of the active runway. (C)There is a possibility of wind shear
over or near the airport.

B 4-3850:0011215 40 2% & .7
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( ¢ ) 8 Convective clouds which penetrate a stratus layer can produce which threat to
instrument flight?
(A)Freezing rain. (B) Clear air turbulence. (C)Embedded thunderstorms.

4o 88%.:0011216 %8 2.0 % B : %
( B ) 8 Which type clouds are indicative of very strong turbulence?
(A) Nimbostratus. (B) Standing lenticular. (C)Cirrocumulus.

F4ed8%0:0011217 %8 2:0 $p% B : %
( B ) 8 Which weather phenomenon signals the beginning of the mature stage of a
thunderstorm?
(A) The appearance of an anvil top. (B)The start of rain at the surface. (C)Growth
rate of the cloud is at its maximum.

B4 A8 500011218 A0 2% R 5
( ¢ ) 86 What feature is normally associated with the cumulus stage of a thunderstorm?

(A) Beginning of rain at the surface. (B)Frequent lightning. (C)Continuous
updraft.

f4s88%.:0011219 2220 ¥ % B : %
(C ) 87 What is indicated by the term ’embedded thunderstorms’?
(A) Severe thunderstorms are embedded in a squall line. (B)Thunderstorms are
predicted to develop in a stable air mass. (C)Thunderstorms are obscured by other
types of clouds.

4o %855:0011220 4220 2% R ¥
(B ) 8 Where do squall lines most often develop?
(A) In an occluded front. (B) Ahead of a cold front. (C)Behind a stationary front.

4o %855:0011221 42 52:0 ¥4 R %
( C ) 8 Where can the maximum hazard zone caused by wind shear associated with a
thunderstorm be found?
(A) In front of the thunderstorm cell (anvil side) and on the southwest side
of the cell. (B)Ahead of the roll cloud or gust front and directly under the
anvil cloud. (C)On all sides and directly under the thunderstorm cell.

R4s48%.:0011222 %820 $p% B %
(A ) 9 What action is recommended when encountering turbulence due to a wind shift
associated with a sharp pressure trough?
(A)Establish a course across the trough. (B)Climb or descend to a smoother level.
(C) Increase speed to get out of the trough as soon as possible.

B4 d8 500011223 g0 5% 20 5
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(B ) 91 In comparison to an approach in a moderate headwind, which is an indication of
a possible wind shear due to a decreasing headwind when descending on the glide
slope?

(A)Less power is required. (B) Higher pitch attitude is required. (C) Lower
descent rate 1s required.

B 385000011224 4500 2% R0 5
(B ) 92 Which type precipitation is an indication that supercooled water is present?
(A)VWet snow. (B)Freezing rain. (C)Ice pellets.

R4 48%.:0011225 %520 ¥p% B %
( A ) 93 Which action is recommended regarding an altitude change to get out of jetstream
turbulence?
(A)Descend if ambient temperature is falling. (B) Descend if ambient temperature
is rising. (C) Maintain altitude if ambient temperature is not changing.

B4 4855:0011226 422 :0 ¥ % R %
( ¢ ) 94 Turbulence encountered above 15,000 feet AGL, not associated with cloud
formations, should be reported as
(A) convective turbulence. (B) high altitude turbulence. (C) clear air
turbulence.

4o B850:0011227 %520 ¥ % B %
(A ) 9 What is a likely location of clear air turbulences?
(A) In an upper trough on the polar side of a jetstream. (B)Near a ridge aloft
on the equatorial side of a high pressure flow. (C)Downstream of the equatorial
side of a jetstream.

4o B8%0:0011228 %52 :0 ¥ % B %
( ¢ ) 96 Which primary source contains information regarding the expected weather at the
destination airport, at the ETA?
(A)Low-Level Prog Chart. (B)Radar Summary and Weather Depiction Charts. (C)
Terminal Aerodrome Forecast.

4 4855:0011229 fp2e:0 3k R ¥
( A ) 97 What type turbulence should be reported when it causes slight, rapid, and
somewhat rhythmic bumpiness without appreciable changes in attitude or altitude,
less than one-third of the time?
(A)Occasional light chop. (B) Moderate turbulence. (C) Moderate chop.

R4o82%0:0011230 f52:0 2% B ¥
(¢ ) 98 What type turbulence should be reported when it momentarily causes slight,
erratic changes in altitude and/or attitude, one-third to two-thirds of the time?
(A)Occasional light chop. (B) Moderate chop. (C) Intermittent light turbulence.
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(C ) 99 Which is an effect of ice, snow, or frost formation on an airplane?
(A)Decreased stall speed. (B) Decreased pitchup tendencies. (C) Decreased angle

of attack for stalls.

b 85:0011232 421 g5 B 7
(B )100 (Refer to figure 1) ’The turbulence located at N45W170 is (4-@®Al15_figurel)
(A)Light turbulence (B)moderate turbulence (C)severe turbulence

{EE] @ ;;}L;Lt__;ﬁjf “{g}{% "u_\\'\" \\” \f'»”' .‘g 3 )-—‘ﬂ"--.._
et _g%fyg T
G, Fi X :
=Ty LSO 2
LTI o o
{%% Y, é‘&jﬂ‘J

(B )101 (Refer to figure 1) 'What is the jet stream at N45W170t?(4-®A15_figurel)
(A)a jet stream with a maximum wind speed of 100kts at FL 280 (B)a jet stream
with a maximum wind speed of 110kts at FL 370 (C)a jet stream with a maximum

wind speed of 100kts at FL 360

( B ) 102 (Refer to figure 1) When does the HIGH LEVEL SIGWX CHART become valid(4v

BIA1S_figurel)
(A)2010 MAY 06 0000Z (B)2010 MAY 07 1200Z (C)2010 MAY 06 1200L(TPE)
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4o d8%.:0011230 4w :2 5 B 7
( ¢ )103 (Refer to figure 1) 'The depiction N15E140 in figure 1 represents (4-@l
Alb_figurel)
(A)Turbulence at FL500 (B)CIELING of FL500 (C)a tropopause height of FL500

-

P B

. -
P o

f4o88%.:0011236 s+ :3 2% B ¥
( B )104 (Refer to figure 1)’ The chart in figure 1 encompasses airspace(4-®A15_figurel)
(A)FL250 and below (B)FL250-FL650 (C)The ohter answers are correct.
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(B )105 (Refer to figure 1)’ what is the ceiling of the CB located at N30E140 (4-
Alb_figurel)
(AFL 250 (B)FL430 (C)from sea level to FL 320

AP B

. -
P o

F4e%855:0011238 4225 ¥ s R ¥
(B )106 (Refer to figure 1), 1in figure 1 at N42W125 represents(4-®A15_figurel)
(A)Light C.A.T. (B)Moderate C.A.T. (C)Severe C.A.T.

] "

NS

SR

»

B 4-3850: 0011239 4 e:6 2% R .7

( ¢ )107_(Refer to figure 1)’ , the height of the cloud at SI0E110 is(4-®A15_figurel)
(AFL250 (B)SEA level-FL320 (C)FL530

S

e T ¥h A7

»

B 442 50:0011240
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(B )108 (Refer to figure 1), N40W130 represents(4-®Al15_figurel)
(A)turbulence at FL360 (B)jet stream at FL350 with maximum wind speed of 100kts
(C)the moving direction of the cloud

oW

F4e4855:0011241 4228 ¥ s R ¥
( A )109 (Refer to figure 1)’ , is there any information in this figure indicates light
turbulence(4-®BA15_figurel)
(A)no indication of light turbulence (B)light turbulence at N40E164 (C)The ohter
answers are wrong. (D)The ohter answers are wrong.

SR

b d25:0011242 329 5 B ¢
( B ) 110 (Refer to figure 1) , S25E160 at which flight level will the turbulence to
occur?(4-m®A15_figurel)
(A)FL250-FL450 (B)FL350-FL470 (C)FL250-FL500 (D)The ohter answers are wrong.
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( B ) 111 (Refer to figure 2)’ , under standard atmosphere, at which flight level will

200hpa be?(4-®ALlL _figure2)
(A)FL350 (B)FL390 (C)FL200

P B

FUCE20] =
P )

b2 8:0011244 %20 ¥ 5 & ¢
( B )112 (Please refer to the TAF in chart 5), what is the forecast wind direction and
speed from 7th 0900Z at PHNL?(4-BA15_charth)
(A)060/8 (B)050/10 (C)wind calm

,,?}E E] [%] N PHNL 0617387 0618/0724 05010KT P6SM FEW025 SCTO80
FMO62000 06020G30KT P6SM FEWO030 SCTOE0
FMO70400 06012G21KT P6SM FEWO030
FMO70900 05010KT P6SM FEW025 SCTO60
FMO72000 06018G28KT P6SM FEWO030 SCT060=

Fde 85000011245 Ag e 0 % R0 5
(A )13 (Refer to figure B)' At which flight level is the top of the troposphere?(4r
BIA15_figureB)
(A)30, 000 feet (B)40,000 feet (C)50, 000 feet
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(¢ )114 (Refer to figure C )’ What does the depiction in this chart represent?(4=&
Alb_figureC)

(Mregional low pressure system tops 27, 000 feet (B)regional freezing level at
27,000 feet (C)a low tropopause height of FL 270 (D)the highest point of the
tropopause is FL 270

PR

B 885000011247 $5 00 225 R0 5

( B )115 (Refer to figure D)At which flight level is the top of the troposphere? (4wl
Al5_figureD)

(A)30, 000 feet (B)40,000 feet (C)50,000 feet

B he885:0011248 22220 % R %

( ¢ )116 (Refer to figure E )’ this depiction indicates(4-®Al15_figureE)
(Mregional low pressure system tops FL 430 (B)regional freezing level at FL
430 (C)a HIGH tropopause height of FL 430 in this area (D)the highest point of
the tropopause is FL 430

B4 A8 50:0011249 20 5% 20 5

( B )117 " (Refer to figure L )this depiction indicates(4-®Al5_figurel)
(A)light icing (B)moderate icing (C)severe icing

IR W

B4 A2 50:0011250 A0 s % &0 5
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(B ) 118 " (Refer to figure N )this depiction indicates(4-®Al5_figureN)
(A)light turbulence (B)moderate turbulence (C)severe turbulence

SR A

B b 88%55:0011201 4220 % B %
(¢ )119 " (Refer to figure O )this depiction indicates(4-®A15_figure0)
(A)light turbulence (B)moderate turbulence (C)severe turbulence

LR AN
AN

B4 A8 8:0011252 420 3% B %
( B )120 * (Refer to figure G ), at which flight level is the cloud base?(4-®A15_figureG)
(A)FL 380 (B)FL 270 (C)unknown

"EEE] g] . 1501 380

CB 270

B b B850:0011203 4220 5 2 %
( ¢ )121 " (Refer to figure H )at which flight level is the cloud base?(4-®A15_figurel)
(A)FL 380 (B)FL 270 (C)unknown

’EEB g] . 1801 380

CB GO

Fhed850:0011254 450 35 B 5
( A )122 " (Refer to figure G ) at which flight level is the ceiling of the cloud?(4r
BIALS_figureG)
(A)FL 380 (B)FL 270 (C)unknown
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’%EE] ]%:] . 1501 380

CB 270

B b B855:0011205 4220 % B %
( B )123 " (Refer to figure I ), at which flight level is the cloud base?(4-®A15_figurel)
(A)FL 380 (B)FL280 (C)unknown

%EE]ES]: 1S0L XXX

CB 280

F4ek855:0011256 422 :0 ¥4 B ;%
( ¢ )124 " (Refer to figure K )this depiction indicates(4-®A15_figurek)
(A)light icing (B)moderate icing (C)severe icing

1P W \H/

38500011207 450 % B %
(B )125 " (Refer to figure P )’ this depiction in high-level significant weather chart

indicates a wind speed of (¥-BAl5_figureP)
(A)110Kts (B)115Kts (C)25Kts

E R

o 4e4855:0011258 fgie:0 s b & ¥
( B )126 " (Refer to figure Q )’ The depiction below in high-level significant weather chart
indicates(4-®Alb5_figureQ)
(M)wind speed (B)temperature (C)altitude
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B 4-3850:0011259 4 el sk A7

( B )127 According to figure 3, the SIGNIFICANT WEATHER PROGNOSTIC CHART figure 3, what

kind of significant weather will the flight from RCTP toZSQD encounter?(4r @]
A15_figured)

(A)moderate icing (B)moderate turbulence (C)severe icing (D)severe turbulence
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(D )128 According to the figure 3’ What is the altitude range of the cloud heights
aboveROAH ?(4-®BA15_figured)

(A)between 240 and 360hPa (B)between 240 and 360mm (C)between 10, 000 meters and
25, 000 meters (D)between FL 100 and 250
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B 4-3850:0011261 44 sk A7

( ¢ )129 According to the figure 3, "the ISOL CB encountered if landing at ZGGG" means: (4w
BIA1S figured)

(A)cumulonimbus clouds spread up in line (B)cumulonimbus cover all the mark area
(C)isolated cumulonimbus (D)cumulonimbus weakening
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( ¢ )130 Refer to the 300 hPa PROGNOSTIC CHART provided in figure 4, which flight level

will be related to this figure in general?(4-®BA15_figure4)
(A)FL 400 (B)FL 350 (C)FL 300 (D)FL250
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